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Wykaz i: Budynek - 0 Wykaz fi: Budynek - 1
Nr___[Nazwa pomieszczenia Pow. uzytkowa Nr Nazwa pomieszczenia Pow. uzytkowa
Lokal A 63.34m’ Lokal A 70.15 m’
AT [wiatrotap 35T AJ7__ [Korytarz + schody 1163 m°
A2 |korytarz Ts8me AJ8__|fazienka 7.49m*
A3 |wc 2.76m AJ9__|Poks) 12.81m’
A/4_|salon z aneksem 37.12m A/10__|Pokg 1041 m
A/5_|pom. techniczne 238m’ A/11__ [Poks, 12.65m’
A6 |garaz 15.93 m? A/12__ [Pokg; 15.16 m?
Lokal B 69.46 m* Lokal B 71.80 m*
B/1 |wiatrolap 2.04m" B/7 korytarz 10.14 m*
B/2 |korytarz 2.84m’ B/8 Pokj 15.15 m*
B/3 |Poke] 37.09 B/9 garderoba 461 m
B/a  |wc a6 B/10 _|Pokgj 1053 m’
B/5__|pom. techniczne 3.12m B/11 _[fazienka 6.03m’
B/6  |earaz T9.91m B/12__|Pokdj 1253 m’
Razem 132.80 m* B/13__|Pokgj 12.81m
. Razem 141.95 m* 2382
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